
Hazardous Voltage.
Will cause death, serious injury
or substantial property damage.

Turn off power supplying this
equipment before working inside.

DANGER

0 140892 15307

ECMF5
CATALOG NUMBER

5th Jaw Kit
PowerMod™

1. Turn off and lock off the power supplying the device before 
working inside.

2. Remove #10 screw from center of meter socket.

3. Snap 5th jaw assembly into place at either 6 o'clock or 9 
o'clock position.

4. Insert #10 screw to center of meter socket and tighten to  
15-20 lb.-ins.

5th Jaw shown assembled 
in 6 o'clock position.

5th Jaw Assembly

#10 Screw

Meter Socket

Snap

PowerMod™ Modular Metering Accessories

9 o'clock
position

4819952  Rev.B

© 2009 Copyright Siemens Industry, Inc.
® The National Electrical Code is a registered trademark of the National Fire Protection Association.

Siemens Industry, Inc.  Norcross, Georgia   U.S.A.

Note:  This instruction outlines the recommended installation 
procedure.  For installation by a qualified person, as defined 
by all local electrical codes and/or the National Electrical 
Code ®.

Kit Contents:
(1) 5th Jaw Assembly
(1) Screw, #10-32 x 7/16


	Page 1

